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Multiply by powers of ten (missing number)

Name:

7.661 %

7.461 x

6.7 x

5.648 x

8.747 x

5.084 x

2.363 x

1.779 x

8.256 x

5.794 x

=76.61

=74.61

=670

= 5648

= 8747

= 5084

=23.63

=17.79

= 8256

= 5794

Date: Score:

5.116 x =511.6
3.922 x =392.2
7.426 X =74.26
7478 x =74.78
9.057 x = 9057
10.64 x = 10640
8.377 % = 8377
7.602 x = 7602
5.067 x = 5067
10.682 x = 10682
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a) - if Multiply by powers of ten (missing number)

Name: Date: Score:
7.661 x 10 = 76.61 5.116 x 100 = 511.6
7.461 x 10 = 74.61 3.922 x 100 = 392.2
6.7 x 100 = 670 7.426 x 10 = 74.26
5.648 x 1000 = 5648 7478 x 10 =74.78
8.747 x 1000 = 8747 9.057 x 1000 = 9057
5.084 x 100 = 508.4 10.64 x 1000 = 10640
2.363 x 10 = 23.63 8.377 x 1000 = 8377
1.779 x 10 = 17.79 7.602 x 1000 = 7602
8.256 x 1000 = 8256 5.067 x 1000 = 5067
5.794 x 1000 = 5794 10.682 x 1000 = 10682
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